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Active & passive :J 940 9 polro
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The earthquake destroyed the building L v |

(0,5 olye ) gleidlo ol 33 ol 8,5 ol pg Joe Jelbd &5 JUo ool 5o
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The building was destroyed by the earthquake .
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Active: They write the letters. Am, is, are sl Jo gl

Passive : The letters are written
Active: They wrote the letters. Was , were ol a5 af le:
)

Passive :The letters were written
Active: They are writing the letters. Am ds are + being

&)l el Jl e

Passive :The letters are being written
Active: They were writing the letters. Was , were + being

Sl el 22555 L
Passive : The letters were being written
Active: They will write the letters. Will be

colw oaisl 4be;

Passive :The letters will be written

Active: They are going to write the Be going to be be eilag e | :.'JI-".'}
letters. A -
going to
Passive: The letters are going to be
written
Active: They have written the letters. have /has been J.aiff JL‘* a.'JL"}
Passive :The letters have been written
Active: They had written the letters. had been Jol§ azd ey L3

Passive :The letters had been written .

(e edededododededededdeddedededddddddddddd-ddddddddddddd4

ledeledeleioiolofotofotofotofolololololololodolololofolofofolofofolofofotololololololololololoolololololodolols]
TnTRTIRRTRRROGRRRRIRRRRRRRIRRRRRRIGRRRRRRRRRRRRRRRRRRRRRRR R



efefefefodojeojeodeodededododeodeojeodeodedeadodododeododeodedededdedded deddodod-dod-f i)
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Tag question: : (oligS pd)doansd Y 1gw
:(oligh po)anannd ¥ lgw o 3,15
a9 a3 18 i 3590 5 Cublge oaighd Ly 1) 395 Silex 5 Ol a5 wblgs sy oS oS s
A5 (o0 olaiwl SYlgw £93 ol 51 0 (2 Egdge S B0
I-Reza 1s a student, 1sn’t he? 2-They can't speak English, can they?
:(0ligS p3)annod OW1gw & 490 40 pgo WIS
ol o Jlgaw o3 Wbl (Ao iy aor S5 9 (o Jlgaw p3 Wl e wily Ao 513 40
Reza 1s a student, isn’t he? They can't speak English, can they?
S o o0l gl sl 4 Aeld pond 1 Jlgw p3 j0 2T 4SS
Reza 1s a student, isn’t he? They can't speak English, can they?

PO RO LT B Lioes 31wl ails ) alos W51 Jlow 03 50 VaASS
ol ) 20 | Qi B 4
oS o0 ool did 31 aidS o yo 9 do/does ;1 sslw

Al lives in Bam, doesn’t he? The men spoke English, didn’t they?
Dgs oo ooliiwl el plowd gl as there 045 51 950 £ 4,0 there b wils alos ,513F 459
There is a lot of traffic, isn’t there?
4 g p3 0 g0 g9, these/those L this/that o yio o)Ll yuwus b wils ales L5130 4K
oS o0 oolaiwl they I zoz o,Lol joud sl a9t 310 0 0)L0] s sl
This is a dictionary, isn't it?

Those are not tigers, are they?
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Gld Cdiog ¢ bl abls 3429 (never/hardly/rarely,...) i gload ool alos 4o 5137 &S
Jlgw p3 31 bl ails s9>gno one/ body/nothing 1 olus 5 9( no/few/little) o o5
The old man can hardly walk, can he? oS 0 o0 L] o
He never goes to the library, does he?
Mina has few friends, does he?
We have little time to go to the stadium, do we?

Nothing bad happened, did it?

no one /everyone/everybody/someone/somebody/ /no body Ll alos> Jeld 512Y &85
3 o yeowd 3l 0L everything/nothing/nothing Wb ales> o8 51 g they zos s 3l wiil
S oo oliwl it
Everybody knows Dr. Sami, don't they?
Somebody has called, haven't they?
Nobody phoned, did they?
Nothing is left, is it?
wolam I not b garen’t T ;T Jlgw 03 550 g9 o I am b ) alos ,513A 4S9
I am a teacher, aren’t 1?
D oo ooliw WIll you 1 &¥lguw o3 0 i ol Moo gl 2% &K

Don't come late, will you?

Never try to frighten me, will you?

ledeledeleioiolofotofotofotofolololololololodolololofolofofolofofolofofotololololololololololoolololololodolols]
TnTRTIRRTRRROGRRRRIRRRRRRRIRRRRRRIGRRRRRRRRRRRRRRRRRRRRRRR R

(e edededododededededdeddedededddddddddddd-ddddddddddddd4



efefefefodojeojeodeodededododeodeojeodeodedeadodododeododeodedededdedded deddodod-dod-f i)

s oS &S olo glad 18

Sl ooldl LAl 6,50 Lok 31 Jud AnidS o aF o, Ao

When my dad got up, I had eaten my breakfast

P32 0395 1 pl dloeme (ol o o0 &5 Sboj

abld anlol ABdS jo 500 Joe 40l plxil U g ouls £90 AbdS j0 a5 o Lo (ol A% o

|
Ali had lived in Paris before he studied art there
Lail )0 i asdllas 51 L 39y 00 )5 (T ua sy po e
! 03l GLTT ALDAF o a5 Las olo ¥
I had lived here before he came.
P92 09,5 (S laial (ye ol ol &5 (pl 51 Ju3
:(past prefect ) Jol5 &ldS oylo § aaduio medls
gl ;b ) 35 jakeinn slo L L
durs olot before+ostn aids
daxs olot When+oolu alllds
solw abiS+ because o ol
oobw alas+ after+ o ol

a) for(;5 2) never g (a5 :pl jaxo 4 ) as soon as( 5;U 4 ) just g (1,.31) slxe 4 already

S o Ll a4 (5) since(csowe
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( Relative clause) Joogo wbs: ¥ guyd | g0l F £90 90

2led 5 S0 L g wl (oo el 0l om a5 098 (oo iiS il & 39090 O be L
WS oo oy | el g 09 0 Jeaio gl 45 ... g Who whom , which Jsoge

The boy who play soccer is my brother
an. bl bty Jelbd i g bl oylwdl suwl ales gl 30 a5 owl ;51 :who b  Jeo 9o & yle
SR BLIC S RS S

(Jebb 2i o) olwdl gl + WhO + 28 + alos dnldl

The man who plays golf lives at No. 10.
a0l XS Jarie i g dubl ! ol ales Jgl 38 a5 ow! 51:whom b (Jeo e O be
09 o0 )b @ p ) S

(Jorio (i 53 )¢yluni! gl + WhoO + Jeli+ alas anlsl

The woman who(m) you met yesterday 1s coming to dinner.

@ilas el i g ol oylus! pué ool alas Jgl 40 &5 comsl 51 twhich b (Joogo & jbs

29y 0 @ ) b ol allo |y Loy
(Uels 2i ,0) bl pué ol + Which + a8 + ados anld
The cat which lives near us was drinking milk.

S5 a5l aidls 1) huog @yl Jorio (i g il Ll yak oul alos Jol 4o a5 ool 451

09y o )5 @ pj

(snia Shii ,8) oylwsl pué poel + Which + Jels + alas 4ol
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sthat b (Jgo g0 & )bs

Pl dndlyd jlaf K00 Gl 009 (o0 ) 4 (Jpoge ylad colod gl & that Jeoge s
I found the keys that I lost yesterday. Cowl that Jecoge

30,5 80> g o 1y Fpoge plod Loy 4>

to oliiio ol on 11..‘.",‘.'“""5QT Q‘fg“":ﬁ."ﬂtu be J=2 Lol yor GJ'CEGJB""H"‘J?'L“& ol & (|
5,5 Qi be
I saw a man who is climb a tree.

I saw a man climbing a tree.
b wole jSily oy oyl Jg il sswlito be Jzb Lol b Jeli Jowgo plos ol5 ya (Y
Wl o0 ool Jlo & yguo 4 ol Jxd Ygoxo a5 abl  Siais>
The students who study Arabic here are all clever.

The students studying Arabic here are all clever.
25195 40
Al o0 )30 90 4 tO DE 2 g 5090 ymond B D j50 10 Ghog jlus Jad
Ll uog Wil (y0gr palro (g ouidd LIS a5 12 ING W a0 4 (A
ol oy @)l (g9 Jgre (5 00iad (LS 4T (PP) S pow Canund W j90 4 (o
The students who study Arabic here are all clever.
The students studying Arabic here are all clever.

The boy who was taken to hospital was my brother.

The boy taken to hospital was my brother.
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10T d ) dolS 31 ooliiw! b oS5 oo Moo
o |y (choices)as )5 9o b wlxiil 90 Lo Wl £o3 opl )0 aF Al 0 €LY o & Ly doldS
w219 9)

You should do your homework, or you should wash the dishes.

0 U @ byl OMez 50 45 3510 & )T e 4 S patde S OF L) Uy 55 98T AV

Sl oo (4 )5 = other wise) b g (4i)Fq=0r else) oxo p2 Or by; &> 0,15 pl jo.04,
You have to leave now, or you will miss the train.
We need to be there by 8, or (else) we will find 1t hard to park the car.
:SO dyy aalS 31 00law! b S5 o WMo
42.93) (o0 )1 4 (result) g o5 ams (yols HLS Glp &5 Wl (o €l Pl (Fro & by aolS (5
ol Jgl alos Azl pgo alos a5 wad oo lid R0 OjHle
Saeed studied hard for the exam, so he passed it.

1S yo WMo 3 990 4O pgo A g8

3edy OladS ol 5l bd 0udS 0 oy a2 4]y 00l dlos g0 a5 89 5 o SHles o 3 4SS
oS g oBhanls € o p g)lald

My brother stayed at home yesterday. He watched TV. ( and )

My brother stayed at home yesterday, and he watched TV.

D5 50 155 (Js5 p)lolS 5 e alex Jold Wil Sy aloxr 90 Jolb 518 po o 0 1Y 4
5,5 Bis
My brother stayed at home yesterday he watched TV. (and)

My brother stayed at home yesterday and watched TV.
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199 £8) b b o 5L
Lo oal o , b, g >
i el 3+ b 4 weds Jel s +would + oolw J=b
If you came " we would play
P30 EP P 905 SR g o

S (52 4oz Syl petml polo L) by gz g by dle
3 &9 P g B g OHe2 8 9,10
D98 (oo b e Jlo ) p90 £oi (Do b
If you studied hard, you would pass the exam.

3099 E9) By SN o SIS
SMozr ;0 Lol 3529 jgu0 (] juf 90 9 99 (o0 B> LolS wbly alor Jgl by Slgr )51 aiss
aanl 059 (o o
You would pass the Exam if vou studied.
3,5 solaiw! ma might 5 could ol @8l S5 Jladl pluw 3l Hled oo b ol Clam 50 Y 4SS
You could pass the Exam if you studied.
3Tl o oole axiids )0 (plidl plad (gl paaw o 9 s3le Jlgy S » b alozr 50 Y i

s s0laiwl Were

If I were you I would travel to Europe.
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Jgréde +Will/can/may/should/must+ be + p.p

Active: They will write the letters.

Passive: The letters will be written

JoUF 4l 1V g j0 ¥ ol 5 £90 90
:Jol8 Jb ole sLsl
Jelo + had + J28 paw Coud
s JolS &b oo SHgw slisl
had+ Jeb + Jas pow Coomd?
ol ahox Jolasyhad (Sas Jad (10,5 (g (510 sy (o0 jLS L j0 45 digSile
tJol allis ae ylale
Jebé +had+not + Jzb oo Coound

oo 4L31 1, MOt o 03 had Ko Jad a5 50,5 iho (gl dakas o0 sLis L 50 45 aigKilan

tJols AT oy (90 oF (ko 09
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& 35 azxadi alos L8] 515l dod ol aillilo ob @ . WS 0 51,55 1 ylgie Ao oyl alos ol

R RE
VY oepo uilss o el Reading Strategy
oo 3l Jgww 7 5 Question Generation

ol 3l oS adeiio 1y ol pte ledMbl g awlest 1y cpite 45 Cawl cpal oo 31 Jlgws 7 b 31 yokaio
DS 7yl g leMl

,6 ol (where) xS g (When) Jloj 4 5 9 (WhO) o az oy culedbl (48,5 jasciie 3l o
b o 45 ciiow 53 ladS o3l dsodls slail 1y 415 T (hOW) yab 4z 9 (Why) 1,2 b tesls slxil |,

A g5 oo (question starter) Jlgw oussS jLEl wgud o jLET Lyl

Tk Jlaw opie 31 4 aidlaze Lol jl aliled o I g 20yt Al Gl S 5508 Jg  Spgo &
ol 3 Sewlal d i s dz gl L iaded oo Lol @ e glol jo ly e pl g le a aSL 0lS
ol g1y S5 d ] eSS g 5 g0 €010 Lilg Sguis oo B Jlgw

Which of the following question does the passage answer?

(09955 Sy ) 045 ok 1Y vy Hwilgd o Reading Strategy

o g SleMbl 5,5 asiie sl sailas azil 49,5l oL 4 slealy 51 So:Highlighting
S solaiiuwl o S 0,5 Co¥ sla ol ol

oS gazeio 1y Juol suul
S S (g |y pben S DleMbl g 3y Gl o & gaals OBUY
s asieo ddos plod gl a |y oMW clial g bd O yLelY

S CuY gl 1y e 3l g0l ol Cond g 0L WMo F
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G189 Cantols 2 ¥ w30 yilga O il Reading Strategy
16 910 99 a3 e eSS

ol ouniliS 1y o (sldlio g oyl 45 0y gl (piodno.)

[y JolS Codlos & it g0 |y o0 lodS” Lp25LY

DS ool boled o g ladis] ude 51

Ao e aF g v allls jo 1) el Cullol duuwu o .F

Voo ol 5lg dmwgd yuu |8 Vocabulary Development
How y) Laslon & 2

5oL LT () (ol S 95 @ g wuT (g0 08 JUS 50 (s &5 (a5l gl aelS Lz U 90

WS CBO il pl (g y (6l g8 1y By o0 Hl A

9 M s5 (o0 4z Lo 4T 09l (o dxrgo O (598 Sl S AT B o L) (o) B S 4 S
odliiwl baple sl b 5 3 sl S 57 5l (o3 (1) 50 D9 S 50l ] 2 (598 Sl o
&9 ol mod BB ol gl (powertul tea) cos 5 vy 550 Hli )3 1) ()b (eI S Jlo09 (o0

gl 4 STl 08 0 45 s g 4w 1y (Strong Tea) cus y pidus ol 92 Cawlisd| b iub oS &

ey S 5 ol (g e Lol jaliio a5 35 (0 4 g0 (SErONG cOmputer) o ¢

Wl 08 3 45 @ g oo | (powerful computer) cus 5 1,551 gl (92 Cawlbi|l

Y a0 o 5lg drwgd 3l Vocabulary Development

Word part Families 10319l o2 Sl
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She had never seen a bear before she went to the zoo.
When I sent the book to her, she had already bought it.
She had just left the scene when the car arrived.

As soon as she came, he had finished his homework.
They had known each other since they were children.

We had lived in Shiraz for 15 years before we moved to Qom

Sl 0L 50 alos £lal AV by Y vy Sl

Cowl o0l 2 aloz ;500 Wyle a4y wily Jad g Jeld 6lylo Blos a5 ol aloo 108l dlodr i 2

Example: Ali went il @l s Oyl SO aF

.gbut,and , 50wl by gy 9 Jarie 9 Jeld S §1 G b ol alos 2 g0 dhod ) g0
jln&ﬁ.’hu‘lgaahudlnq-Jﬂ-kgé#fﬂ'ﬁ'gﬂuﬁﬂ@éhﬁréﬁjhﬁdﬁ .J.L_'tgflj

Ji 90,15 0929 Jad 9 Jeld oG 51 s 5 po SMoz )0 ;500 Wslie 4 09l oo Sl ) Slals
3508 Jab <K g Jolb S0 &S Gl paf dlns 65l dlas a5 o

:and da y 4ol 3 08liu! b o w0 Hos

a5 w5 | o (addition)daslsl CHles 4 guuas Sledbl a5 0l o0 €90  Sro 4 by dolS oy

ol Jal Jel asline coluwlus! 5 Laadlas Loges
I get up early in the morning, and I make an omelet myself.

sbut tu,y a8’ 31 ooliiw! U S o WMo

Al o (contrast)wglay g olay swidd Lid a5 adl o «lob e 4 by aols ol

The book was boring, but Tom had to read it.
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Aoy 4y ol 50 a5 W10 (Slwsy ol g ad ;) a5 09 (o0 widS (JlolS a3 00lgils o2 wlals
il ool 5l pdl ob 1 DGgun b Siguin

ool ol oud 4 U dolS s lw gy 31 LbTU aodS was 4 a5 SLaSS i Word attack
WS 0 oS szt OlodS yuiled g mid jo | Lol a5 aedS I s JLdo el a5 Sl | oo
o0 oS Lol 4 oy loscind ol 1)y Ll Jlee g A bl |y Laigum 9 Louigdiun bod 45 8 g.dudvmd
At 5 & pidond 4 3B (3280 1 d 50 1) Lol SoST ] oS I o 1) OlelS il 55k (Jaro a5 028

ﬂ@@bfﬂﬁﬁ#ﬁl@;égw
el DU

) aols o JguidS oi pae |y anls 5 00w Lhdi(er)adile o leaigduy dgue 3> baigduy.)
unhappy wile.wiss o oo

ile WSS (o0 (P9e 1) dedS (g)gred Ll ey WSS (o0 P9t |y Al (Sre Lakiguy T

Slooll g Wolrw Lo @ ool gl 4 o NESS Wiguws b ol o 4 el caoHappy

happiness

2,10 dafllae 4 jL0 g o0 Lloww DLl aly ) Hauid Y

Fodl © o ¥ o 0 o 5lg drwgd giul33l Vocabulary Development

sgel 4SS 6 LaS b ol & e o) dad 4 4 Sl (6 et 9 00 oSyt el o b 31 aliie

DS o |y i msgl gl g WS 0 0yl

o9 1y ol pattn SlodS Jawe Ll Cond yleis s @ g Cuwl Hlai v j90 sl b Ldl O s o
g bds wub sl el gl g 45 Cawl sl o yo OLS o b Liodl O pd Cannd il

Preduced my Mr.Jajfivowzeh
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el SLEHLL pled (Glgae) 3590 30 SLELL 5l ae p2.05 95 b 4 [) Glewld(F.ovs mad gl
11 51, (IB) JS

5 529195 (£ 500 o) pb &1 durd JBlozr 1,1yl 1 100,10 oguarka JSb S5
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SadS Eg 0 duua SISHL SO Ll s gl wus gl o] 8550 40 sublgsy bob a5 e
tE9090 Hl Ao )

b ouiilgs g T (g0 BIEL (shaisl 38 il 450,18 Lyictiows Sus b (guunslS5 31,5150 51 6 ylonnns
§ur (51 alazr 88 (P (£ o904z 1 22 3 10 tuad SIS 4 39 (s dx g o (uiles
Sldbo anins o magi 1) BI51HL ol owsl g wiylo pal (S955 Wigm o jl e cpeusd
e 30 Y
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